Autumn Test 4

1 | 3+ =6X2 2 =39 X 100

3|1-05= q | 12=

S %+%= G | 5000 + 10 =

O | 62X100= 10| 16 +2=3X

1| 10= 12 =%ﬁm

w|\1
|
0~|—\

13 | 6423.6 ~ 1000 = 19

of 21 =

\l|w

15| 3 X 5= -5 16
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Autumn Test 4 (continued)

17 | 5022 — 3045 = 18 | 150 = X 25
19 12 + =19—2 20| 314787
6 5 7 (2 marks) —
21| « o3 22| 400 — =288
1
23| 819232 249 % 38 g
25| 5676 =2 X 26 ~147=9
27| 613+28+78316= 28 762 (2 marks)
- X 48
[Total marks I30j
How well did you do? + with correct place value | 27
Colour the numbers of the — with zeros 17 [ 22
queshons you gOt correct. + or x by 10, 100 or 1000 2161913
Long x 21|28
Fractions 51811214116
Missing numbers 11711015118 [19]22]25]26
+ 511011527
- 11318114117 ]119]22
X 1121419 |1 1M|12(15]76|21(24]26]|28
+ 611711011213 |16(18|20(23]|25
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